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(i1) All questions carry equal marks.
(@iz) Use of calculator is permitted.
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1. Explain the concept of cost and revenue function and their inter-relationship
in monopoly competition. 10
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.

Or
(feram)
Find the demand function ¢ = 30 — 4p — p? and price p = 3, p = 5, find out
the elasticity of demand for each price.

Aot e g = 30 — 4p — p2 370 fRTd p = 3, p = 5 Teoiel TTaE Y fhadg
qEToi=l adfaehdl Alfed .

2. Describe the price and output determination in perfect competition in the
long period with suitable diagram. 10
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Or
(fenam)
Given the utility function :
U = q9,
and the budget constraint is :
100 = 2q, + 5q,
Determine the quantity of commodities ¢, and g, the consumer will buy to
maximize his utility.
IENTAT Hed
U = g9,
o Sea= HAQT :
100 = 2q, + 5q,

Teefl STETT SUHERT BRET & IR g, 30T g, T TrEEA FHuRld &, S
UK ST HETH HE  Iehal.

What is meant by utility ? Explain the ordinal utility function with its

characteristics. 10
ST WU T ? S STAN Hed [UHHEE T
Or
(feram)

Given the total revenue function of a firm :
R =-2Q3 + 80Q + 15

Find out level of output, average revenue and marginal revenue.

T UM O THO 3d Hed

R =-2Q° + 80Q + 15
ool 1A, SR TS (Q), TUEH 3¢ (AR) =7for fadid a1 (MR) & %l
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Write short notes on any two of the following : 10

@
(iD)
€279)

(tv)

Production functions
Monopoly power

Given the Total Cost (TC) C = 3x% + 6x2 + 4x + 2, find out Average
Cost (AC) and Marginal Cost (MC).

Find AR, when elasticity of demand and MR are given (ed) = 2 and
MR = 50 respectively.
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SAIRT hadd

REREAINEGI]

TR @9 (TC) C = 33 + 642 + 4x + 2 facten /a1 @&l @€ (AC)
sfor fga@ == (MC) YA Frel

AETO=N dafaehdl (ed) 9 fo@i@ 9T<l (MR) 3TGhH (ed) = 2 i
MR = 50 feorelt sTaaMT el 3= (AR) Hifgd .
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